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S3

Valeria bought a chocolate box that had 6 rows,

with 5 chocolates in each row. How many

chocolates did the box have in all?

The window display of a handbag store 

showcases 4 rows of bags, with 4 bags in each

row. How many handbags are displayed in all?

Amanda, a !orist, arranged her bouquets in

3 rows, with 4 bouquets in each row. How many

bouquets were there?

Todd arranged the chairs in 2 rows, with 3 chairs 

in each row. How many chairs did he arrange in 

all?
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3)

4)

Multiplication with Arrays 
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